Math 311 Quiz# 1
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1. Determine which of the following forms a field:

1) The set of all integers
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11) The set of all rational numbers
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i) The set of all 2x2 matrices over the real numbers.
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2. Define an operation * on the set of real numbers as follows: a*b=aq+b+ab.
1) Prove or disprove that the operation # is associative.
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i)  Find the identity element e for this operation on R. ~ e
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ifi) What is the inverse of —3 under this operation?
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3. Prove that for any real numbers x and y, x(-y} = -(xp).
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4. Solve the inequality: ;<1- g X ¢ 4]
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